S

A

S :

L 2x+3y=5 A: (-25, -22)

.4‘)("“5y=7 O'(4’,O)

.2y =Bx—11

. 2x—By =13

y k=N = B

CAx =Ty =-15

« O=20—Ty V: (5, -2)

Eclving Systems: addition method/elimination

Solve the following systems using the addition/elimination method. The answer
to each problem will match a letter that will allow you to figure out the joke.

N e e SRS

X~ By =1 ' 1.
E.(2,5)

4 —-2y=23
(1, 3)
S; (7, -2)
2y = -2x + 4
M: (3, -1)
«—y =B Ji (2, 8)
D: (0, 3)
4% + ©Yy = -16 T: (-1, 0)
(D
O: ( e 2)

-8y =5 = -7 R: (-20, -13)

12y = 90=%

Answer:

Joke #39
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Solve the following systems using the substitution method. The answer
to each problem will match a letter that will allow you to figure out the joke.
2x+y=56 (3,1
= |
I B: (-6, 18)
x=-4y+3 C: No Solution
2x+by=0
Y: (1,-7)
=bx+7 |
Y A: (3, 0)
i e B s ] ‘ |
T: (3, 2)
bx—y =12
y=2%—9 S: (-2, 2)
W: (1,5)
2Xx+y=05
1 5,
Ox—4y =12 EZ{XI)l:'—Z“X +—2—}
2Xx —4y = -0 % &0)
X=2y =~ V: (2,0) |
. Bx + By =18 R:(-1,2)
Dx + 2y =6
7 3 4
Answer:
Solving ﬁyefemez substitution method . Joke #3238
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1. 2x+y+2z2=56
X+ 2y—z=1
2x+y+3z=0

2. x— 0y + 2z =-24
2x— oy —4z =12
2x + Oy — 0z = 42

3. 2x+z=10
x—2y =14
2y + 2z =12

4, x+2y—=2z=-5
2X+ 3y +z=-D
PX—y+2z2=2

5. x—-y+z=4
2%+ By —z=-7
“Bx + 2y + Dz =7

6. 2x—3y+z=10
~Ix 4y — 2z = -9
X+ 2y + 0z =1

Solve the following systems. The answer to each problem
will match a letter that will allow you to figure out the joke.

S: (-1, -1, 2)
T: (1,0, 2)
P:(1,-2,1)
I (6, 4, -3)

79

: (3, -1, 1)

: (1, -2, 2)
: (5,0, -2)
: (3, -1, 0)
: (2, -6,12)

2,1,

c T T O > m Q

(
(

L (4, 4, 1)
(0,0, ®)

Optional Tough Problem

Solve: 2a + 4b—5c + 5d =19

-2a—23b + 4¢c—2d = -14
Pa+2b+3c—-2d=4
-da+db—=2¢c+4d=9

Answer:

Solving Systems: three variables

Joke #41
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